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Choose the correct answer/Answer
following questions :
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The primary problem of economics is

0 T-"rir 8119 <61

the efficient allocation of resources
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7. (a) Rr-ET{ $fr-q gqc¡¡qaftqvT r-g¿blq rilrqlu¡rg_r
í]Rn qq.f¿TRI r tl
Give a critical analysis of the marginal
productivity theory of distribu tion.

V41l /Or

(b) IT{ DrRqr qr?F cqrrfr{ lfuT Trr RGF qff$qr qfl-qRfu b"¡¡q¡aq{q T.lTr T-{t I rsr
vfuqv fitqf{ Cffi q$ ñm q{qe ft{
fluÍIq qT ? <llrül Fil I 8+3=11
Describe about the economic and
non_economic factors on which changes
in tJle demand for and supply of labour
depends. Why does the individual
supply curye of labour become
backward bending after a certain point?
Explain.
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